
1.	 ~{lm~T£**JE~erMJl~~;'~A ml fD m2 Et~£f**fl~ , 1?:1r'~A**fE~ 
)~\tJ~1~ rl fD r2 {taliJmJ~1}] 0 

(a)~)~\11=
 

(l ) [§] mJ~I}] ,
 

(2)@J'~1JJ ' ......... 
(3)~¥l1:/GtJJ ' 
(4)~ftl!~1JJ ' 
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T = (rl + r2 ) .:. • : 
G(m l +m2) :' : 
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~ .. (a)~)~\~J1:./G1JJ 

f~Ef3 : F = 0 ~1fJ;' ~1iJ 

T - 2w1 _ 21l1i (rl + r2 ) 

- VI - ~Gm2'i 

T 2 = 41Z'2 rl (rl +r2Y... (1)
 
Gm2
 

!!!l = r2 

m2 r, 
!!!l +1= r2 +1 
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ml +m2 'i +r2 
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(=}, -OOfi-T~;mO.3kg ~f!~1£~5!tl.T~5!tl.~tL~ O.lm ff-ifJtm0 

O.lkg i¥g~±E8~ 0.2m i¥gr&1N§~ll:#7\fi&j:!i!~¥rJfi-T1: ' tlOIiiJJ5JT70 0 *fir 
RrPJT~j}]i¥gm:*{ft~0 (m.:tJ1JD~N g=1 Om/52
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=, F=kx 

mg=kx 

:. k = (0.3)(10) =30(N / m) 
0.1 

v 2 =2gh 

V = J2ih == ~2(1 0)(0.2) = 2(m / s) .... 

~ IJJ;~'IBL 

mv=(m+M)V 

:. V = 0.1(2) = ~('%) 
0.3+0.1 2 

1.- (0.4)(0.5)2 + ~ (30)(0.1)2 = 2
1 

(30)(0.1 + Ai - (0.4)(1 O)A
2 2 
lSA 2 -A-O.OS = 0 

A = 1±2 (~ftm7ft4~)
30 ."., 

:. A = O.1m 
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3. ~.m.~ m ' ~~~ L ' *1~~ r!¥J~~~fJ ~~f~~llffijffl~,~*ijfj)~~£m M0 

0!¥J~G~ , 1~AJf!~Wlatp , ~f~KtB~OO!¥J~N~ Ll ' tzel\ii!pJT7G *~a8~W 

N° 

=,~~~~~~~~~~~ h~~ 

r= B(L~~ }m(~ -0)-W(~}in(~ +0) =0 

B(L~Ll )COSO-W(~)COSO=0 

1$f,m1£~ITDTpJT'3t~1$h 

B=PeJrr2 (L-I.)g Pe :~a~&
 
2
W = mg = pJrr Lg 

L-I. 2 L 
PeJrr2(L-I.)-2-g = pJrr L"2 g 

13 m L2 mL
 
:. Pt =P (L-I.)2 = Jrr 2L (L-I.)2 = Jrr2(L-I.)2
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4.	 =~o/]1mi~tmffiS ml = 1.65kg~ m2 = 30.30kgy tJ~ji ;'Zf'~*fi(ml1±.Ljj), ~ 

W~41ID2f1:r ' E8 mlNN m2rG~41IDTm ' tlO!lilJ5!f7G ~41IDZ1tJtftrjm e=30" 'm,0 

W~llliJFs~zlV"~1*1)[~ /11 = 0.226 ; m2W~4[ffiFs~zlVJ*~1*l)[ffiS /12 = 
00.113 "* 

(a) ml Wm2 Fs~f~z~j] 0 

(b) ~~O/]~~Zj]D~~ 0 

(c) ~ ml Wm2f1~JijJ5!U(a)W(b)Z~~JIk~~§~? 

m1 
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~D fiI~~o/]¥efJf. rnJz ~tJ'Iw~ 

For m1 : 

T+~gsinO- /=m1a
 

T =111m1g cos 0 + m1a - mIg sin 0········· (1)
 

For m2 :
 

m2gsinO-T - /2 =m 2a
 

T = m2gsinO - 112m2gcosO - m2a ...... ···(2)
 

(a) (1) x m2 + (2) x m1 1~ 

T = ~m2 (IJI - 112)g cosO
 
m1+m2
 

= 1.65x3.30 (0.226-0.113)x9.8x -Jj 
1.65 + 3.30 2
 

= 1.05nt (," .. ' )
 
\ i I ) 

. gcosO . 
(b)	 a =gSlnO - (112 m2 + 111m1) 

m1 +m2 

{3
1 9.8x V2
= 9.8 x - - 2 (0.226 x 1.65 + 0.113 x 0.3)
 
2_ 1.65 + 3.30 

=3.62 ~\<1 J 
(c)~D m11£M ' m 2 1£1"& ' J::37IJ=1JfjAv)\rqJ , ~~~if§rqJ , Oil~t~WpJT§'tZtJ~ 
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5. -~~1J~fZP J: '~mJ~Wz~.I!£{~m~0 U-r(~:,I: = m )~~EB~~ZJ: h0 

r§J~mA~pq , afj;mT~U-r~m J1 ';fiU-rW~m5G~:lF~!j!ttuMfl ' :>1( 

U-rOOmmT t fj;1&WE8~.1!£ 0 
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E­
x ~WI¥91~~ , E;:r:p/J\ft5l:-j] 

(1) x ~J: 

(2) ~m~Tmg x f.1 x t = J1111gt 

(3) mTr:p/J\~pJT:M!!rtDT~j] F 

I:!.p f.1oMmv ~ 
F =- = = J1111V = J1111v 2gh

I:!.t M
 

~ x = J1111gt + J.11!l~2gh = J1111(gt + ~2gh )
 



6. 9!Ig&~nm~g&l{)(=f~~ftj~4z~~r:p~III¥J~Ui ~fF:1JJttlDlllpJT7G ~r:p0	 0 

j1GJEYillY~~1~ , ~~OOQJtm:tf::FG~ , %~IH~njJ~ p '~6r;ZJj\QJmme (*~0 

~jJ~ Po)
 

EfI ' 1lf C ~MfrlteZ~!ftlE~~{PJ?
 

6 ' B ~lil&I%5Jttz~jJ~{PJ?
 

N ' hll&rWJ:g,y~g&~17JQJlfF?
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(a)	 ~rm D-C ztlE~ 

1	 2 1 2 h
P"+"2PVc +pghc =PD+ 2PVD+Pg D 

%VD =O£lp" =PD =~(*~~jJ) D 
v,,2 =2g(hD- hJ =2g(~ + d) :' 

, "\ 
I ',­
U 

Vc =J2g(~ +d)	 " 

(b)	 B ~ CZ~ff,*)7~ 

1 2	 1 V 2 hPB +-pVB + pghB = Pc +-p c + pg c 
2	 2 

c~VB =Vc Pc =Po
 

PB = Pc + pg(hc -hB ) = Po - pg(h( +d+h2 )
 

(c)	 PB =O~h~~]j*{rnl
 

Po - pg(h1max + d + h2 ) = 0
 

h(rnax = Po - d - h2 <= ~3&1l1:t{@OO1m=fte7j(* 
pg 
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